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-0.415 0.114  *** -0.160 0.137
0.190 0.155 -0.189 0.039  ***
0.774 0.314 x 0.097 0.039 *k
0.024 0.029 -0.382 0132  ***
0.035 0.063 0.015 0.009 *
-0.380 0.380 -0.049 0.023 *k
250 7.470 0525  *** 1 29 -0.114 0.121
250 500 30 500
500 1,000 -0.290 0.358 500 -0.225 0.127 *
1,000 -1.087 0.496 ** 0.311 0.114  ***
13 6.726 0.494  Hx* 250 0.059 0.101
3.355 0.830  *** 250 500
500 1,000 -0.277 0.140 s
1,000 0.121 0.219
13 0.195 0.100 *
0.425 0.752
1670
Wald chi2 783.08
Prob > chi2 0
-534.251
Wald test of rho=0 chi2(1) = 9.987
Prob > chi2 = 0.0016
***1% **5
1 0
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